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+y Draw an arrow for a force that has a : +y Draw an arrow for a force that has a
4 large positive x-component and a : 4 small positive x-component and a
1 small positive y-component. | 1 large positive y-component.
| | |
| |
| a) Determine its components. : | a) Determine its components.
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1 b) What kinds of angles can this force | | b) What kinds of angles can this force
: have? ! : have?
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+y Draw an arrow for a force that has equal x : +y Draw an arrow for a force that has equal x
4 and y components, but the x component is : 4 and y components, but the x component is
1 negative and the y component is positive. | 1 positive and the y component is negative.
1 | 1
| |
| a) Determine its components. : | a) Determine its components.
| |
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| b) What Quadrant will this force be in? | | b) What Quadrant will this force be in?
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4 Draw an arrow for a force that has a : 4 Draw an arrow for a force that has a
| negative y component but a zero x | | negative x component but a zero y
: component. : : component.
| | | a) Determine its components.
! a) Determine its components. ! {
“ T nuje : ana T P b) Which way does it point?
: b) Which way does it point? : :
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